

$$C = (a^r + b^r - rab)^r (a^r + b^r + rab)^r = ((a-b)^r)^r ((a+b)^r)^r = (a-b)^r (a+b)^r = (a^r - b^r)^r$$

$$C = 2(1-\sqrt{r}) \Rightarrow (a^r - b^r)^r = 2(1-\sqrt{r}) \Rightarrow 14(1-\sqrt{r}) = 2(1-\sqrt{r}) \Rightarrow \boxed{14}$$

$$\left. \begin{array}{l} a^r = \sqrt{9-r} \\ b^r = \sqrt{9+r} \end{array} \right\} \Rightarrow ((\sqrt{9-r} - \sqrt{9+r})^r)^r = (\sqrt{9-r} + \sqrt{9+r} - 2\sqrt{(\sqrt{9-r})(\sqrt{9+r})})^r = 6$$

$$(2\sqrt{9-r} - 2\sqrt{9+r})^r = 2^r r + 1 - 14\sqrt{r} = 2^r r - 14\sqrt{r} = 14(1-\sqrt{r}) \Rightarrow$$

$$(a^r - b^r)^r = 14(1-\sqrt{r}) \quad \checkmark$$

$$((a+\frac{1}{a}) + \sqrt{r})^r ((a+\frac{1}{a}) - \sqrt{r})^r = ((a+\frac{1}{a})^r - (\sqrt{r})^r)^r = (a^r + a^{-r} + 4(\frac{a}{a})) - r^r = r^r$$

$$\Rightarrow ((\sqrt{r-\sqrt{r}})^r + \frac{1}{(\sqrt{r-\sqrt{r}})^r} + r - r)^r = (r - \sqrt{r} + \frac{1}{(r-\sqrt{r})(r+\sqrt{r})})^r = (r - \sqrt{r} + \frac{1}{r-\sqrt{r}})^r \Rightarrow$$

$$a = \sqrt[r]{r-\sqrt{r}} = \sqrt[r]{(r-\sqrt{r})^r} = \sqrt{r-\sqrt{r}} \quad \checkmark$$

$$(r)^r = r^r \Rightarrow r^r = r^r \Rightarrow \boxed{r} \quad \checkmark$$

$$A = \sqrt[r]{r\sqrt{14}} \left(\frac{1}{r}\right)^{-\frac{r}{r}} = \sqrt[r]{r^{\frac{r}{r}} \times r^{\frac{r}{r}}} (r)^{\frac{r}{r}} = r^{\frac{10}{10}} = \frac{r}{r} \times r^{\frac{r}{r}} = r^{\frac{r+r}{r}} = r^{\frac{4}{r}} = r^{\frac{4}{r}} = r^r = r^r \Rightarrow$$

$$\boxed{A=r} \Rightarrow (r \times r)^{-\frac{1}{r}} = \sqrt[r]{\frac{1}{r}} = \frac{\sqrt[r]{1}}{\sqrt[r]{r}} = \boxed{\frac{1}{r}} \quad \checkmark$$

$$\sqrt[r]{a} = r^{\frac{r}{r}} \times \sqrt[r]{a^{\frac{1}{r}}} \Rightarrow \sqrt[r]{\frac{a}{a^{\frac{1}{r}}}} = r^r \Rightarrow \frac{1}{a^{\frac{1}{r}}} = r^r \Rightarrow a^{\frac{1}{r}} = r^{-r} \Rightarrow a^r = r^{-r} \Rightarrow \boxed{a = \sqrt{\frac{1}{rV}}} \quad \checkmark$$

$$B = \frac{1}{a} - r = \frac{1}{\frac{1}{\sqrt{rV}}} - r = \sqrt{rV} - r = r(\sqrt{r}-1) \Rightarrow \boxed{\frac{B}{(1+\sqrt{r})}} = \frac{r(\sqrt{r}-1)(\sqrt{r}-1)}{(1+\sqrt{r})(\sqrt{r}-1)} = \frac{r(\sqrt{r}-1)^2}{r-1} \quad \checkmark$$

$$\Rightarrow C = \frac{r(r+1-2\sqrt{r})}{r} = \frac{r(r(\sqrt{r}-1))}{r} = r(\sqrt{r}-1) = \boxed{r(\sqrt{r}-1)} \quad \checkmark$$

$$(\sqrt{x+a} - \sqrt{x-r})(\sqrt{x+a} + \sqrt{x-r}) = r(\sqrt{x+a} + \sqrt{x-r}) \Rightarrow$$

$$x+a - (x-r) = r\sqrt{x+a} + r\sqrt{x-r} \Rightarrow x+a - x+r = a+r = r\sqrt{x+a} + r\sqrt{x-r} \Rightarrow$$

$$r\sqrt{x+a} + r\sqrt{x-r} - a - r = 0 \Rightarrow r(\sqrt{x+a} + \sqrt{x-r} - r) = a \Rightarrow rB = a \Rightarrow B = \frac{a}{r} \Rightarrow$$

$$\text{سوال: } \sqrt{x+a} + \sqrt{x-r} - r = \frac{a}{r} = B$$

$$\boxed{\sqrt{x+a} + \sqrt{x-r} - r = \frac{a}{r}} \quad \checkmark$$

$$1! = 1$$

$$1! + 2! = 3$$

$$1! + 2! + 3! = 9$$

$$1! + 2! + 3! + 4! = 33$$

$$1! + 2! + 3! + 4! + 5! = 153$$

$$2! = 2$$

$$2! + 4! = 26$$

$$2! + 4! + 6! = 74$$

$$2! + 4! + 6! + 8! = 410$$

$$2! + 4! + 6! + 8! + 10! = 3446$$

دلیل این است که هر عددی که در این دنباله قرار می‌گیرد، به قدری بزرگ می‌شود که مجموع اعداد قبلی را پوشش می‌دهد.

$$(1 \dots V) \times (1 \dots Y) = \dots$$

$$\sqrt[4]{\frac{1 \times (4 - \sqrt{4})}{(4 + \sqrt{4}) \times (4 - \sqrt{4})}} \times \sqrt{1 + \sqrt{4}} = \sqrt[4]{\frac{(4 - \sqrt{4})(1 + \sqrt{4})^2}{(14 - 4)}} = \sqrt[4]{\frac{(4 - \sqrt{4})(4 + \sqrt{4})^2}{9}} = \sqrt[4]{\frac{(16 - 4)}{9}} = \sqrt[4]{\frac{12}{9}} = \sqrt[4]{\frac{4}{3}} = \sqrt[4]{\frac{4}{3}}$$

$$\left(\frac{\sqrt{2} + \sqrt{5}}{\sqrt{10} + 2} \right) \left(\sqrt{3 - \sqrt{5}} - \sqrt{3 + \sqrt{5}} \right) \Rightarrow x_1 = \frac{(\sqrt{2} + \sqrt{5})}{(\sqrt{2} \times \sqrt{5}) + (\sqrt{5} \times \sqrt{2})} = \frac{(\sqrt{2} + \sqrt{5})}{2\sqrt{10}} \Rightarrow x_1 = \frac{1}{\sqrt{2}}$$

$$x_2 = \sqrt{3 + \sqrt{5}} - \sqrt{3 - \sqrt{5}} = \sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}} = \sqrt{\frac{5}{4}} - \frac{1}{2} \Rightarrow x_2 = \frac{\sqrt{5}}{2} - \frac{1}{2}$$

$$\left(\frac{1}{\sqrt{2}} \right) \left(\sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}} - \sqrt{\frac{5}{4}} - \sqrt{\frac{1}{4}} \right) = \frac{1}{\sqrt{2}} \times \frac{-2}{2} = -\frac{1}{\sqrt{2}}$$

$$\frac{(2\sqrt{2} + 3\sqrt{3})(5 + \sqrt{6})}{(5 - \sqrt{3})(5 + \sqrt{6})} - 2(\sqrt{3} - 1)^{-1} = \frac{10\sqrt{2} + 15\sqrt{3} + 9\sqrt{2} + 4\sqrt{3}}{(5 - \sqrt{3})} - \frac{2(\sqrt{3} + 1)}{(\sqrt{3} - 1)(\sqrt{3} + 1) - 1} = \frac{19(\sqrt{2} + \sqrt{3})}{2} - \frac{2(\sqrt{3} + 1)}{2} = \frac{19(\sqrt{2} + \sqrt{3})}{2} - (\sqrt{3} + 1)$$

$$= \sqrt{2} + \sqrt{3} - \sqrt{3} - 1 = \sqrt{2} - 1$$

$$x_1 = \frac{-13 + 13\sqrt{3}}{13} + (2 + \sqrt{3}) = \sqrt{3} - 1 + 2 + \sqrt{3} = 2\sqrt{3} + 1$$

$$A = \frac{1 + \sqrt{3} + \sqrt{3} - 1 + 2\sqrt{(\sqrt{3} - 1)(\sqrt{3} + 1)}}{(\sqrt{3} - \sqrt{3})(\sqrt{3} + \sqrt{3})} \Rightarrow A = \frac{2\sqrt{2}}{3 - 2} = 2\sqrt{2}$$

$$A = \sqrt{2(\sqrt{3} + \sqrt{3})} = (\sqrt{3} + \sqrt{3})\sqrt{2} = \sqrt{6} + \sqrt{6} = 2\sqrt{6}$$

$$\frac{3^x (1 + 3^1 + 3^2 + 3^3 + 3^4 + 3^5)}{3^{x-2} (1 + 3^1 + 3^2 + 3^3 + 3^4 + 3^5)} = \frac{3^x (1 + 3 + 9 + 27 + 81 + 243)}{3^{x-2} (1 + 3 + 9 + 27 + 81 + 243)} = \frac{3^x \times 364}{3^{x-2} \times 364} = 3^2 = 9$$

$$\left(\frac{3}{2} \right)^x \times \frac{364 \times 3}{9 \times 3} = 9 \Rightarrow \left(\frac{3}{2} \right)^x = \frac{9 \times 3}{364 \times 3} = \frac{9}{364} = \left(\frac{3}{2} \right)^{-2} \Rightarrow x = 2$$

جواب نهایی: $x = 2$